4 N
ARBETSBLAD 21
Del av antal
1 1
1 a) = av80kr= b) — av24 kor =
4 3
1 1 .
2 a)— av60m= b) — av 40 liter =
6 10
2 3 .
3 a) s av 100 euro = b) 1 av 8 pédron =
3 5
4 a) = av40st= b) — av12dygn=
8 6
2 3
5 a2 av70ml= b) — av200 kr =
7 10
3 5 .
6 a) 5 av 300 ton = b) - av 14 hastar =
7 a)iaVZSOCI: b)iav27min:
5 9
7 5
8 a) = av500 mm = b) — av24 dygn =
10 8
6 2
9 a);av140mg= b)gav450cm=
7 7
10 a);av180m1= b)gav40kr=
N %
.
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ARBETSBLAD 21 - FACIT

Del av antal

1 a) 20kr
b) 8 kor

2 a)l0m
b) 4 liter

3 a) 40 euro
b) 6 paron

4 a)l15st
b) 10 dygn

5 a)20ml
b) 60 kr

6 a) 180 ton
b) 10 héstar

7 a)200cl
b) 12 min

8 a)350 mm
b) 15 dygn

9 a) 120 mg
b) 300 cm

10 a) 140 ml
b) 35 kr

MATEMATIK
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